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ENGLISH

(Fun at the Races)

A) Answer these questions:

Q.1. Which children participated in the competition?
Ans: All the children of class 4D participated in the competition.
Q.2. How did Rita and Krish prepare for their Race?

Ans: Rita and Krish practiced very hard for their race till they became more
confident.

Q.3. Why did they keep falling?
Ans: They kept falling because they were doing it wrongly.
Q.4. How did the teacher encourage the children?

Ans: The teacher encouraged the children by helping them to tie the rope
properly at the ankles.

Q.5. Who won the three legged race?
Ans: Neha and Kapil won the three legged race.
B) Punctuation
Hare: I am the fastest animal in this jungle.
Tortoise: Do not be so sure.
Hare: Will anybody race me?
Tortoise: 1 will race you.
Hare: I will take a short nap.
Tortoise: ~ Slow and steady wins the race.

Hare: I have been proud and foolish, thank you for teaching me this
lesson.

C) Use grammar
1) On my way home [ saw an accident.
2) Ifelt very sad.




3) Suddenly I saw a girl calling for help.
4) Idecided to help her.
S5) When I reached home, my mother appreciated me for helping her.

Poem (Granny’s Little Laptop)
A) Difficult words:

Sleek: smooth and glossy

Gaze: to stare.

Blogging: to update a personal online diary.

Tete-a-tete: French phrase for a private conversation between two
people.

Flans: baked dishes with sweet or savoury fillings

B) Gist of the poem:

The poem is about Granny’s new laptop. The poet gives us an idea
how Granny will use her first laptop.

Granny will start writing her blogs and soon will become successful.
She will be gathering information about nature. She will stay in touch with
her friends through emails and will soon start her own online kitchen to
share her recipes with fans. The poet expresses his joy to have such a geek
Granny.

MATHEMATICS

(Rounding of Numbers)

A camera is priced Rs. 14058. A customer asked the salesman, “How much will
this cost?”

Our salesman replies”’nearly 14000”.

e Many times we don’t have or we don’t require the exact number.

e To get the idea of number, we round the number.

e This rounding may be to the nearest tens, hundreds, thousands, ten
thousands etc.

(Rounding to the Nearest Tens)

Rule I: If the digit in the units place is 0, 1, 2, 3 or 4(less than 5) then we make
the units place 0.




Rule II: If the digit in the units place is 5, 7, 8 or 9 (more than or equal to 5)
then we make the units place 0 and add 10 to the number.

Examples: Round the following numbers to the nearest tens.
a) 28974 b) 84166 c¢) 72945
Solution:
a) Units digit of 28974 is 4 clearly Rule I is applicable.
To round the number to nearest 10, we replace 4 by O.
Hence, 28974 rounded to the nearest 10 is 28970.
b) Units digit of 84166 is 6. Clearly Rule II is applicable.
To round the number to the nearest 10, we replace 6 by 0 and add 10
84160+10=84170
Hence, 84166 rounded to nearest ten 1s 84170.

¢) Units digit of 729435 is 5. Clearly Rule II is applicable.
To round the number, we replace 5 by 0 and add 10
72940+10=72950

Hence, 72945 rounded to the nearest ten 1s 72950.

EXERCISE 1.4(Pg No. 19)

Q.1. Round to the nearest 10.
a) 78 — 80 b) 91 — 90

(Rounding to the Nearest Hundreds)

Rule I: If the digit in the tens place is O or 1 or 2 or 3 or 4(less than 5) then, we
make the tens and units place as Zeros

Rule II: If the digit in the tens place 1s 5 or 6 or7 or 8 or 9 (more than or equal
to 5) than we make the tens place and units place both as zeros and add
100 to the number.

Example 1: Round 673 to nearest 100 digit in tens place of 673 is 7, clearly
Rule II applies.

To round the number we replace the units and tens place by zeros.

673 — 700




Example 2: 66712 — 66700 (Applying Rule I)

EXERCISE 1.4(Pg No. 19)

Q.3. Round to the nearest 100.
a) 148 — 100 b) 365 — 400

CHAPTER:- ADDITION AND SUBTRACTION

Problem solving:

In order to solve word problems, first you need to read the given question
carefully. Follow the steps given here.

The four basic operations are Addition (+), Subtraction (-), Multiplication (x)
and Division ().
Steps to solve word problems.

1. Read the problem carefully

2. Identify what is to be found

3. Identify the operation

4. Solve the problem.

S. Verify the answer.

Example 1: The capacity of a water tank is 88245 litres. If 42983 litres of water
1s taken out, then how much water will be left in the tank?

Sol: The capacity of water tank= 88245 L
Amount of water taken out= 42983 L

Remaining water= 88245

—-42983
45262 L
Therefore 45262 litres of water will be left in the tank.




Example 2: The savings of Preeti for 2 years are Rs. 58750 and Rs. 69950
respectively. Find her total savings.

Sol: Amount saved in first year= Rs. 58750
Amount saved in second year= Rs. 69950

Therefore total savings=5 8 7 5 0

+6 9950
128700

Therefore the total amount saved by Preeti is Rs. 1, 28,700.

EXERCISE. 2.1

Q.3. d) On their holiday they spent Rs. 3458 on petrol; Rs. 3765 on food; and
Rs. 2900 on stay. They also spent Rs. 1050 on sight seeing. How much

did their holiday cost them?

Sol:  Amount spent on:

Petrol = Rs. 3458
Food = Rs. 3765
Stay = Rs. 2900
Sightseeing =+ Rs. 1050
Therefore, total cost = Rs. 11173
Therefore, their holiday cost them Rs. 11,173.

(DIFFERENT METHODS OF ADDING NUMBERS)

Different Methods of Adding Numbers

In a maths test, students were asked to add 35 and 49 quickly. Look at the
different methods used by students.

Method 1: Method 2:
35+49 35 +49
30+5 +40+ 9 35+40+9
30+40+5+9 75+9
70 + 14 84
84




e In the first method, a number is written in terms of its tens and ones. Then
the corresponding tens and ones are added.

¢ In the second method, only one number is written in terms of tens and
ones. Then, addition is done.
Note that each student used a different method but the answer they got is
the same.

Example: Add 32+16

v

32+2+10+6 32+10+6 30+2+16
30+10+2+6 4246 4642
40+8 48 48
48

Examples: Ex. 2.3
Q.1.e): 58+18 f) 25+48
50+8+10+8 20+5+40+8
(50+10)+(8+8) (20+40)+(5+8)
60+16 60+13
76 73

Q.3. Add by counting in tens.
e) 23+48
23+10+10+10+10+8
33+10 +10+10+8
43+10 +10+8
53+10+8
63 +8
71




f) 19+38
19+10 +10+10+8
29+10 +10+8
39+10 +8
49+8
57

(DIFFERENT METHODS OF SUBTRACTING NUMBERS)

In a maths test, students were asked to subtract 19 from 56 quickly. Look at
different methods used by students.

Method I 10 Method 11 Method III

19/ 56— 20 = 36 Pk
~ T~

36 + 1= 37 56
9

)
56 - 10 =46 50-19 =351

46 — 9 =37 31+46=37
Each student used a different method but the answer they got is the same.

Examples:

73 =27

el

73 -20=1353 73 -30=43 70 -27=43
53 -T7=46 43 +3 =46 43 + 3 =46

Exercise 2.3

Q.2.e) 84 — 28 f) 45-39
84 — (20 + 8) 45 - (3049)
84 —20 =64 45 - 30=15
64 — 8 =56 15-9=6




Qd.e) 46-27 f) 62 - 38
46 — (10+10+7) 62 — 1(10+10+10+8)
46 — 10 = 36 62 -10=52
36 -10=26 52-10=42
26-7=19 42 -10=32
32-8=24
SOCIAL STUDIES

Lesson no 1: “My Country and Its Landscape”

Summative Assessment:-
Answer the following in few words:
Q.1. The states located along the coast of the Arabian Sea are:
Ans) 1. Gujarat 2. Maharashtra
3. Goa 4. Karnataka
5. Kerala
Q.2. Another name for the Western Ghats
Ans) Another name for the Western Ghats is ‘Sahyadri’.
Q.3. The rivers which drain the Indo Gangetic Plain.
Ans) The rivers which drain the Indo-Gangetic plain are;

A)The Ganges
B) The Indus and
C) The Brahmaputra

Q.4. Answer the following in brief:

a) Which are the different political divisions of our country?

Ans) The different political divisions of our country are the 29 states, six
Union territories and one National Capital Region(NCR).




b) Which are the six major physical divisions of India? To which of these
physical divisions do you belong?

Ans) The six major physical divisions of India are:-

. The Himalayan Mountains.
. The Indo-Gangetic plain
. The Indian Desert
. The Peninsular Plateau
. The Coastal plains and
. The Islands
The Physical division that we belong is the Himalayan Mountain.

Lesson no: 2: “Rights and Duties”

Summative Assessment

Answer the following in few words:

Q.1. What is Democracy?

Ans) Democracy is a system of Government in which people choose their own
form of Government. It is the Government of the people, by the people and
for the people.

Q.2. What are Fundamental Rights?

Ans) Fundamental Rights are the basic human rights offered to every citizen of
the country.

Q.3. Answer the following in brief:

a. Write down the five principles of our country as mentioned in the
Preamble.

Ans) The five principles of our country as mentioned in the Preamble are:-
a) Sovereign d) Republic
b) Socialist e) Democratic
¢) Secular




b. What are the fundamental rights given to us by the constitution?
Explain them.

Ans) The fundamental Rights given to us by the Constitution are as:
a) Right to Equality: - It means that we all are equal before the
law.
b) Right to Freedom: - It means that we all are free to speak,
travel and practice any profession in our country.
¢) Right against exploitation: - It means that one can’t hurt or
1nJure anyone in any way.
ight to follow any religion: - It means that all religions are
treated equally.
e) Right to cultural and educational freedom: - It means that we
can promote any culture or language we like.
f) Right to seek justice: - It means that we can seek justice from
the court when we face unfairness of any manner.
g) Right to education: - It means that children in the age group of
6-14 get free education.
¢. Mention any four fundamental duties mentioned in the constitution.

Ans) The four fundamental duties mentioned in the constitution are:-

a) To follow the constitution.

b) To honour the national flag and the national anthem.
¢) To protect the freedom of our country.

d) To respect the unity in our country.

SCIENCE

Lesson no 1: “MAKING FOOD”

Do these in your notebook:-

Ansl) Chlorophyll is important because it traps energy from sunlight for
photosynthesis.

Ans2) Photosynthesis is a process by which green plans make their own food
(glucose) with the help of sunlight, chlorophyll, corbon dioxide and
water.

Ans3) A leaf needs carbon dioxide, water and energy to make food. It gets
carbon dioxide from air, water from soil and energy from sun.

Ans 4) A plant uses food to grow and repair its damaged parts.




Ans 5) The tiny tubes inside a plant carries water and nutrients.
Ans 6) Yeast, mould, mushroom etc.

Ans7) Mushroom get their nutrition from the dead matter of plants and animals
in the soil.

Lesson No 2: “LIVING AND GROWING DIFFERENTLY”

Do these in your notebook:-

1. Underwater plants have narrow or thin leaves so that they can bend in the
flowing water.
. Lotus plant has a long, hollow and thin stem so that the leaves and the
flowers can float on the water.
. Trees growing in the plains have flat leaves to help water vapours to
evaporate and keep the tree cool when it is hot.
. Grasses can grow in many places because they do not need much water
and can grow in the soil having less minerals.
. i. Conifers:-
a) These trees are cone shaped and have sloping branches to slide off the
snow easily.
b) These plants grow their seeds inside the cones to withstand the extreme
cold.

ii. Cactus:-

a) They have thorns to reduce their moisture loss.
b) They have spreading roots to soak up the water quickly.

iii. Tape grass:-

a) Their leaves are narrow and thin so that they can bend in the flowing
water.

b) They use up the dissolved carbon dioxide in the water in order to clean
the water around them.
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